AGREEMENT FORM FOR POLITICAL CANDIDATE ADVERTISEMENTS

To Avail Themselves Of The Lowest Unit Charg Window, Federal Candidates Must Sign The Ce	rtification O	Political in Page 3
	A COST CONTRACTOR OF	
Station and Location: WSKK/WUSJ JACKSON, MS, もWYOY	101	22/19
1, Michard Woser / ariot Agency		TELEVISION DE L'ANNE
being/on behalf of: BUTCH LEE	.,	······································
a legally qualified candidate of the POVbliceUN		
political party for the office of: Transportation (IM)	missionar	/ central
in the General	,	
election to be held on:		
do hereby request station time as follows:		
Broadcast Day, Length Rotation or Package	Times per Week	Number of Weeks
SEE SCHEDULE		
		1

by:	e above described broadcast time	has been furnished
and you are authorized to annound represent that this person or entity authorized committee/organization	Is either a legally qualified candida	son or entity. I ate or an
The name of the treasurer of the c	andidate's authorized committee is	5; ,
This station has disclosed to me its classes and rates; and discount, p to federal candidates).	s political advertising policies, incluron romotional and other sales practice	iding: applicable es (not applicable
THIS STATION DOES NOT DISC BASIS OF RACE OR ETHNI	RIMINATE OR PERMIT DISCRIN	IINATION ON THE DVERTISING.
To Be Signed By C	andidate or Authorized Con	nmittee
10.23.19	1200L/	
Date	Signature	-
To Be Sign	ed By Station Representative	
Accepted	☐ Accepted in Part	☐ Rejected
Kill Kakaithaw	Bill KAKESTRAW	GSM
Signature	Printed Name	Title

Sales Order

0	WJKK-FM	98.7 FM	I O wus	96.3 FM	© WYOY	101.	7 FM		C) WI	IJT 93	.5 FN	1	0	WIIN	
-		.j				<u> </u>		<u>y desir san sana</u>							October 2	3, 2019
☑ Ne	w Order dition		Notarize Invoic	е	Special I	land	dling	Ins	truc	tion						
☑ Ca □ Tra		□ roc	CAL CAL AGENCY	REGIONAL REG AGY	☐ STREAM		□ T. ☑ P					2	STAND	ARD 🗌	CALENDAR	
□ NEV	V ADVER	TISER									Co	ntra	ct#			
Adv	ertiser:	T	Butch Lee	(Political)	1	Г	Communication of the Communica		Chience and							
1	Agency:		Cirlot A			F						**********			7.7.7	
	ddress:		No.	37)		F				-						
				*		1				-						
								S	Sales	sper	son			Rill	Rakestraw	, —
	Contact:		Lauren H				N	ITR	/Pkg	Na	me:		Trans		ion Comm	
1	Phone:		601-664	1-2010		e			ı/Ca					Butch	Lee Politic	cal
L	Fax:	3					N. C.			Marian Inc.	**********					
Fouring	ct Desc	nptions	: (Primary)		Politic	al					PO	#		THE PERSONS	Star	t: 10/28/2019
											Est	#			Enc	
Traffic	Billing	Spot		Da	tes	T	-			in the same of the			week	Total	Total	
Jse Only	Rate	Length	Daypart	Start		Mon	Tue	Wed	Thu	Fri	Sat	Sun	spots	Spots	\$\$\$	Comments
	\$32.00	30	6a-10a	10/28/19	11/01/19	4	4	4	4	4			20		\$640.00	
	\$32.00	30	10a-3p	10/28/19	11/01/19	4	4	4	4	4			20		\$640.00	777
	\$32.00 \$32.00	30	3p-7p	10/28/19	11/01/19	4	4	4	4	4			20		\$640.00	
	\$32.00	30	6a-10a	11/04/19	11/05/19	5	5					_	10		\$320.00	
	\$32.00	30	10a-3p 3p-6p	11/04/19 11/05/19	11/05/19	6	6				$\vdash \vdash$		12		\$384.00	
	\$32.00	30	3р-ор 3р-7р	11/04/19	11/05/19 11/05/19	-	6				\vdash	4	6		\$192.00	The state of the s
	75	- 00	op-rp	11104113	11105/19	6					\vdash	\dashv	6		\$192.00	
										-	\vdash	\dashv	0		\$0.00	**************************************
							-				\vdash	\dashv	0		\$0.00	
	7)			-	- Harris						\vdash	\dashv	0		\$0.00	· · · · · · · · · · · · · · · · · · ·
									\neg			\dashv	0		\$0.00 \$0.00	~
												\dashv	0		\$0.00	
									\neg			7	0		\$0.00	
													0		\$0.00	
	*******		-		The second second								0		\$0.00	
Jan:				-			Emelia	-								
Feb:			Ap			4	9	Jul:			-		_	Oct	;	
Mar.			May			-		ug:						Nov	-	
		- Control of the Cont				J	2	ep:	-	Nacional Contract		et acessus		Dec		,
		for	UD S	estre	24)		Tot	al S	pots	s:[94		Го	tal \$:	\$3,0	08.00
uthoriz		i	(Sales)		/_ (Acc	Re	c) ,		. 1	r _A		(G	M)			
	pproval		act upon acceptance i	OV General Mana	ger of Stations	D:	ate]	0.7	4.				d By		Date_	
Bills shall b	e received m	onthly and	shall be due payable t	within ten (10) de	ys from date of	involce		-3e11			ti	me, a	nd will a	cept no a	criminate in the dvertising which the basis of rac	sale of advertising th is placed with an

3. Station shall have the right to cancel this contract upon default by advertiser in the payment of bills and other materials breach. Broadcasting done hereunder and not paid shall become immediately due and payable at the earned rate. Advertisers shall pay all attorney's fees in the event legal action is necessary to enforce this agreement or any terms thereof.

4. Contract subject to termination by advertiser by two (2) weeks prior notice,

5. Political and entertainment advertising-cash in advance,

ethnicity. Advertiser hereby certifies that it is not buying broadcasting air time for a discriminatory purpose, including, but not limited to decisions not to place advertising on particular stations on the basis of race, gender, national origin or ancestry.

WYOY-FM 265 Highpoint Drive Ridgeland, MS 39157 601-956-0102

Client:

BUTCH LEE (POLITICAL)

Order #:

10360-00004

10/24/2019

Description: TRANSPORTATION COMMISSIONER; BUTCH LEE POLITI

Date Entered: P.O.#:

Salesperson:

House, HOUSE

Invoice Frequency: Billed at end of Media/EOS, Sorted by Date

CIRLOT AGENCY P.O. BOX 16087 JACKSON, MS 39236-6087 USA

On-Air Schedule

	Start Date	End Date	Station	Scheduled Time/Event	Repeated	Length	Qty	Rate	Total	М	Tu	W	Th	F	Sa	Su
1	10/28/2019	11/1/2019	WYOY-FM	06:00:00a to 10:00:00a	a Weekly	:30	20	32.00	640.00	4	4	4	4	4	0	0
2	10/28/2019	11/1/2019	WYOY-FM	10:00:00a to 03:00:00p	Weekly	:30	20	32.00	640.00	4	4	4	4	4	0	0
3	10/28/2019	11/1/2019	WYOY-FM	03:00:00p to 07:00:00p	Weekly	:30	20	32.00	640.00	4	4	4	4	4	0	0
4	11/4/2019	11/5/2019	WYOY-FM	06:00:00a to 10:00:00a	a Weekly	:30	10	32.00	320.00	5	5	0	0	0	0	0
5	11/4/2019	11/5/2019	WYOY-FM	10:00:00a to 03:00:00p	Weekly	:30	12	32.00	384.00	6	6	0	0	0	0	0
6	11/4/2019	11/5/2019	WYOY-FM	03:00:00p to 06:00:00p	Weekly	:30	6	32.00	192.00	0	6	0	0	0	0	0
7	11/4/2019	11/5/2019	WYOY-FM	03:00:00p to 07:00:00p	Weekly	:30	6	32.00	192.00	6	0	0	0	0	0	0

Order Start Date: 10/28/2019

Order End Date: 11/5/2019

Spots: 94

Total Charges:

\$3,008.00

Combined Discounts:

\$451.20

Total Net:

\$2,556.80

Projected Media Month/End-O	f-Schedule Billing Totals f	or BUTCH LEE (PC	DLITICAL) / 10360-000	104 :
	Spot Count	Gross Billing	Combined Disc.	<u>Net Billin</u>
November 2019	94	\$3,008.00	\$451.20	\$2,556.80
Total:	94	\$3,008.00	\$451,20	\$2,556.80

Confirmed & Accepted for WYOY-FM By:

Accepted for CIRLOT AGENCY By: